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QUESTION 1

When the FortiWeb is configured in Reverse Proxy mode and the FortiGate is configured as an SNAT device, what IP
address will the FortiGate\\'s Real Server configuration point at?

A. Virtual Server IP on the FortiGate

B. Server\\'s real IP

C. FortiWeb\\'s real IP

D. IP Address of the Virtual Server on the FortiwWeb

Correct Answer: A

QUESTION 2

You are deploying FortiWeb 6.0 in an Amazon Web Services cloud. Which 2 lines of this initial setup via CLI are
incorrect? (Choose two.)

config system settings
set opmode transparsnt
set gateway 10.0.0.1
end

config system interface

> e W M

set portl

=]

sat ip 10.0.0.5
8 set allowaccess https ssh ping

9 end

Correct Answer: AC

QUESTION 3
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How does an ADOM differ from a VDOM?

A. ADOMs do not have virtual networking

B. ADOMs improve performance by offloading some functions.

C. ADOMs only affect specific functions, and do not provide full separation like VDOMs do.
D. Allows you to have 1 administrator for multiple tenants

Correct Answer: D

QUESTION 4

Which of the following would be a reason for implementing rewrites?
A. Page has been moved to a new URL

B. Page has been moved to a new IP address

C. Replace vulnerable functions.

D. Send connection to secure channel

Correct Answer: A

QUESTION 5

Under what circumstances would you want to use the temporary uncompress feature of Fortiweb?

A. In the case of compression being done on the FortiWeb, to inspect the content of the compressed file
B. In the case of the file being a .MP3 music file

C. In the case of compression being done on the web server, to inspect the content of the compressed file.
D. In the case of the file being an .MP4 video

Correct Answer: C
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